FE82R L HARBGEFHBREFEXREINSYI L—R
2013 ANSHA YUYV TRFE - FSVIRE

2013/7/12 (Ver.4.4;

Al from to »7dY &R 2440
7A26H 11:00 14:30 HERfER
(&) 14:30 16:30 [ P2 4
16:30 17:30 SA4t R-avbao—)L
AR from to H73Y EH 2441
7A278 8:00 8:45 K/ bL—=2 T
(1) aA3E&—--3i—-F19
TLR-Z=F17J
8:45 9:00 18=NN
9:00 9:30 s
9:30 9:50 BFIYV—b e %4 B1EH
9:50 ZFIV—b BA/N=2a2—b T
11:10 BFIV-—Fh BAN=2 2= Fi#
11:10 11:20 BFIYV—Fh F=L-Z7V Y M3A) T
11:20 BFNFGYAL 9V SkmfBAN—22—b R
BFNIYLIYT  3kmfAN—=22—) R
12:05 BFNFHL VT 4akmfBAN—=22—b R
12:05 BFIV—-b F=L-Z7V Y M3A) 3-ALRER
TFIY—b F—=L-ZTV 2 M2A) 120 REH
12:20 ZFIJ—b F—=L-ZA7V Y M3A) 1-20iLRTEH
12:20 13:05 *&s/ pL—=29
13:05 14:05 B3FIV—Fh 1Tkm BALLIMZAITN RE5
14:05 14:15 18=10
14:15 14:30 B3FIVU—Fh T4 I BMEETE
14:30 BFINFHAL V9 SkmfEAIN—Da—b REX
BFNGYAL49VT SkmfAAIN—22—b £
BENFYLIVT  4kmfBAN—=22—b E3 -
BFIVY-—1H F—=L-ZA7V Y M3AE) E3 -
14:55 BFIV—b 1km L LBMZAITN REX
14:55 15:05 BFIV—Fh 1 /2R
15:05 15:35 18=10
15:35 16:10 BFNFYAL VYT 1km GL1LMF1TN R
16:10 ZFIV—b BAN—=22—b 3-AfTRTER
BFIVU—-b BAN—22—b 3-ALRER
ZFI)—b BAN—=22—p 1-20i R TEH
16:40 ZFIJV—b BAN—2 21— 1-2 R EH
16:40 16:45 18—
16:45 BFIVU-—b 1 7- 126 REH
ZFI)—b i U % R
17:05 BF1)—b T4 I R
17:05 17:10 BFNFYAL4IVT 1km EGLLMFLTN REX
17:10 ZFI)—b BAN—22—b £
17:20 BFITV—b BAN—=22—p xR
17:20 BF1I)—-1 T4 I E3 -
17:30 TFIYV—Fh 1 RER
17:30 17:45 [ P2 4
16:30 17:30 SA4t R-avbao—)L




Al from to #»7dY &R 2440
7A28H 8:00 8:45 *a/ pL—=29
(8) A3E-V-3=F1 9
TVR-Z=F1 T
8:45 9:00 18—
9:00 BF1I)-—-1b ATV b F:&(200 M FTT)
9:40 XFIV—b ATV b F:#(200 M FTT)
9:40 10:15 BFIYV—b F=L-IS—a—b4km) PR
10:15 BFIYV—H RA7Y b 17430185 (55 1 ElE)
BFIVY—-b ATYU b /43R 1% (B2 E1E)
10:45 BFLTY—h A7TY b /43R (58 3E1E)
10:45 ZFIY—b BALb-L—2R (20 km) RS
12:15 BF1)—b BAL Y b-L—=2R (40 km) R
12:15 TFIY—b 500m XL LRSI TN R
12:35 KFNFHL VT 500m RLLMFATN R
12:35 BFIY—b F—=LeS—a—BNakm) 3ARERTEE
12:55 8FLYV—bh F—=LeiS—=a—Nakm) 1-26LRTEEH
12:55 13:10 % LAY
13:10 ZFI)—b BALY b L= (20 km) E.3 7
13:20 BF1IYV—-h BAL Y b-L—2R (40 km) 3
13:20 BEFNFYL UG 500m ELLIMSITN REN
TFIV—b 500m XL LRSI TN REX
13:35 3FITU—-} F—=LeIN\—a1—b REN
13:35 13:45 128=N0
13:45 13:45 BFIV—Fh RA7Y b 5-8HiLRTEH
13:45 TFLIY—b ATYv b 1/2;R 1% (55 1 ElE)
BFIY-b A7Y b 1/2;R 8% (55 1 E1E)
TFLY—b A7Y b 1/2iR 5 (5B 2ElE)
BFIY—b RA7Y b 1/2;R 15 (B2 ElE)
ZFIV—b ATYv b 1/2;R 1% (58 3 ElEk)
14:10 BFLTY—h A7Y b 1/2;R % (5B 3EIE)
14:10 14:15 18=N0
14:15 BENFYLIVT 753409597 B0FhL) RE
14:20 LENFHALIVT 73407939 T (20T L) RE
14:20 BFIY-b A7Y b 3-ATRTEH (5B 1 EIE)
TFLY—b A7Y b 1-2RTE M (55 1 E)
14:25 BFITY—h RA7Y b 1-2{i R TEH (55 1 [E )
14:25 14:35 18=NN
14:35 BFIY-b ATY b 3-ATREH (B 2EI)
TFLY—b A7Y b 1-26LRE M (R 2 M)
14:45 BFITY—bh RA7Y b 1-2RTEH (2 )
14:45 15:15 BFIV—Fh RIFIF R
15:15 BFIY-b ATY b 3-ARTEH (B IEE)
TFLY—b A7Y b 1-26LRE M (R E)
15:20 BFIYV—b RA7Y b 12 RTEH (R EE)
15:20 BFNFGHLIVT T340 T59T(40TFhL) FREX
TEFNFHLIVYT 73407597 (20FL) FRER
BFIY—b RIF9F REN
ZFIVY—b RA7Y b REN
15:45 BFTV—p ATV b RER






